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Attempt five questions in all, selecting at least one question from each section.
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Section-A

. (2) What do you mean by the notion of an ideal bank and how is it used to change the
pattern of a cash flow stream? Explain. _ . 4:

(b) Explain the concept of amortizgtion. A debt of Rs. 250000 is to be amortized over 7
years at 7% interest per annum compounded monthly. What value of monthly payments

will achieve this? 5 o Tk
(c) Consider two 10 years coupon bonds: one has a 10% coupon per annum compounded
annually and sells for 93; the other has 7% coupon per annum compounded annually with
price 76. Suppose a tax rate of 30% is imposed on the coupons received and also on the
realized capital gain (the difference between face value and the original price) at maturity
of all types of bonds. Compute the price of a 10 year zero-coupon bond and what will
happen with this zero-coupon bond price if tax rate is increased by 2%?.
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2. (a) What is ‘Duration’? How does it measure directly the sensitivity of price to changzs in

}’ield? “ : . \ ) - T, - .

(b) A bond with a 9 year duration is worth Rs. 1080, and its yield to maturity is 8% per
annum compounded annually. If the yield to maturity falls to 7.84%, what will be the new
predicted price of the bond?

4
(c) Given risk-free borrowing and lending, an efficient portfolio has no unsystematic risk.
True or false? Explain. | o]
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3. (a) Given that assets X and Y are ﬁerfe@t‘ly correlated such that Y = 6 + 0.2 and.the - -
mean rate of return and variance of asset X are 10 and 430 respectively. What

percentage of wealth will be required to invest into asset X and ¥ to make the portfolio
risk free? _ A

7
(c) Derive the equation of capital asset pricing mode] (CAPM) and what happens if < 0 2

_ 8
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4. (a) Define basis risk when futures contracts are used for hedging. Explain why a short
hedger’s position improves when the basis strengthens unexpectedly and worsens when the
basis weakens unexpectedly. . _ 4+3

(b) Under what circumstances does a minimum variances hedge portfolio lead to no

hedging at all? _ Dk %

(c) Suppose that the standard deviation of quartetly changes in the prices of a commodity
is Rs.8, the standard deviation of quarterly: changes in the futures price on the same
commodity is Rs. 10, and the coefficient of correlation between the two changes is 0.8.
What is the optimal hedge ratio for a 3-month.c

Oﬂﬂ‘ﬂﬂ?what does it mean? 5
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5. (a) What do you mean by convenience yield atid how isiit used to estimate the cost of
carry for a consumption asset? - , | i

(b) Explain the concept of put-call parity in European options. Suppose
price is Rs.31, the exercise price is Rs:30, the risk-free interest rate is 10% per annum
contintiously compounded, the price of a three morith European call option is Rs.3, and the
price of a 3 month European put option is'Rs. 2.25, Show that the: put-call parity dossn’t
hold and also illustrate the arbftragEOpportumﬁes 545 EIPE - N e

o ]
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6. (a) What do you mean by writing a covered call and protective put strategy? What
position in call options is equivalent to a protective put? 542

(b) Use put-call parity to show that the initial investment for a bull spread created using
call to the initial investment for a bull spread created using puts. 8
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- Section-C
7. (a) What do you mean by E'quity-'i'-“'ﬁisg“:ise?flfxp_lain, :
{b) How dividend policy isf-,rrele’f-’éni in.jp_effgc{ 'Cﬁf?ifél'-'m-ar-ket ettt et LI IR
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8. (a) Explain the ‘law of conservation of value'. . | e 5 ool

(b) In a perfect capital markét the value of the firm:is unaffected'by:its: ChGIC;EOf caprtal strucwra,
Explain in the light of- Modigllam -Miller Théorém with suitable illustration. =~ et L 10 .
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2. Attempt any five questions.

1 gzrcr%awar?fa?a%asﬁm%ﬁ%@rwwﬁﬁﬁn; CIET

AT IRl T ATETH TH &Y

gl TR

2. =gt gig 93t & 3R Ay

Q1. 1) The following table gives details of costs and benefits -(in Rs.) of different numbers

of children born to a couple X:

B.A. (Hons.) Economics g/

Number of Children | Total Benefits Additional Costs
1 500 100
2 750 100

N

X/

H

@}



3 840 100

4 890 100 _ﬂ
5 930 100

6 950 100

7 960 100

8 960 100

L

a) Assuming X to be a nuclear family, calculate the optimum number of

children it should have to maximise its net benefit.

b) Consider another couple Y that lives in a joint family with couple X. Both

Y and X have the same costs and benefits of children, as given in the table
above, Now suppose that 50% of the upbringing costs of each child can be
passed on to the other family and that each couple makes independent
decisions, taking only its own welfare into account. In this situation, how

many children would each couple have in order to maximise its own net
benefit?

¢) Explain, with diagrams, why larger joint families tend to have a larger

number of children per couple. (1,2,5)

ii) Explain why each country might want to take a pro-natalist stand for military or
political reasons, but the combination of all countries taking the same pro-natalist stance

may make all countries worse off relative to a neutral stance on population. (7
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T (T /) & A B )
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4 | 890 100
s je0 100
6 les0 100

7 os0 00
8 1960 100
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Q2. i) In the Harris-Todaro model, suppose the initial level of urban employment is E¢ =
2 million, the total urban labor force is Ly = 3 million, the probability of finding a formal
sector job equals the ratio Ey/Ly, the urban wage is fixed by law at Wy = 6, and the rural
wage is Wgr = 3.
a.  Will a person who is currently in the rural sector find it optimal to migrate
to the urban sector? Explain.
b. If urban employment and the urban and rural wages remain fixed, solve

for the level of the urban labor force which will result in the post

migration Harris-Todaro equilibrium.



. Starting with the initial situation. how many rural people must migrate to

the urban sector in search of jobs to achieve the equilibrium as obtained in

part (b)? (2.5 2.5,1)

1i) Briefly explaining the Harris-Todaro model of rural-urban migration, argue that

despite acceleration in the rate of absorption of labour in the formal sector, the informal

sector as a fraction of the total labour force increases. 9)
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(9)
Q3. i) Explain with diagrams, why granting 100% marginal return to the tenant in rural

land markets has special significance, and why it is not optimal to offer contracts that

offer a higher or lower marginal return.

(7)

ii) Explain the lender’s risk hypothesis with a numerical example. (®)
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Q4. 1) Discuss how a judicious land reform has the power to increase overall output in a

rural agricultural economy. (8)
ii) "The rural casual labour market generally fails to improve the nutritional status of

workers and this process makes the employers worse off as well." Discuss. (7)
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Q5. 1) Explain how credit market transactions can lead to rising land inequalities in poor
rural societies. )
ii) Consider a monopolist lender who lends to borrowers on a repeated basis. The loans
are informal and are not backed by written contracts. The lender has no way to recover a
loan if the borrower chooses to default. The lender, however, threatens to cut off credit in
the future to any defaulting borrower. Borrowers discount the next period’s earnings by a
discount factor of 0.5. Borrowers use the loan in cultivation, where production can be
undertaken using one of two techniques—first technique requiring initial working capital
of Rs. 100 and producing net output worth Rs. 300; the second technique requiring Rs.
500 of working capital and yielding net output of Rs. 1000,
a) What is the loan amount the lender will advance to each borrower every period in
order to maximise his own profits? How much is the scheduled repayment and the
implicit interest rate? What are the profits? How much does the borrower earn

every period from this deal?

b) Suppose now that the lender can keep some of the borrower’s asset as collateral,
which he will seize in case of default. The present value of this asset to the
borrower is Rs. 300. Recalculate the optimal loan, the repayment amount, implicit

interest and the lender’s and borrower’s profits in this case. (10)
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Q6. What is environmental regulation? Why is it needed? Why do ‘command and

control’ policies dominate environmental regulation when most economists believe
economic incentives to be a much better regulation? (13)
Q6. THeRT e @A §7 ;E FA S 32 sy 3R Sy (FATS U
Ferer) et gafarola frema ® #7=4F ardr & s SARTR A AR
¢ 5 i dicamest &1 JgaR RAfFTE g aRer (15)




Q7. Discuss the roots of the U.S. financial crisis in mid-2007 Also discuss the broad

policy recommendation to fix the serious {laws in the economy in order to avoid potential
future crises. (15)
Q7.2007 & #ew & Juw. U. ey wae i o1 W wat FY) Gl sven
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Q8. Trade policy is politically contentious because it has important domestic

distributional consequences. Discuss the effects of globalization on income inequality in
the light of conflicting viewpoints of economists. (15)
Q8. TR A ei=ifas & ¥ fqaErdg ¢ #ife gud Ageaqol ae] favor
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(2) ' 4239
“India's macroeconomic conditions have shaped the pattern of
its financial globalization and this provides a framework
for managing it too." Critically evaluate the framework
adopted by India to manage the challenges posed by financia]

globalization.

‘e Y S SR el ¥ ot farcit Qe
F =ET F AER G ¥ SR W’ W wehim w8
foaw ©F wRer 4 W w7 ¢! faxia At w5
A YA F H AU IR TR SR T oy
1 ACTHE JewT BT |

"India’s agricultural development, has not turned out to be price
friendly either for the (farrner or the consumer"2 Comment. Also

briefly point out what are the policy implications of this

phenomenon.

R T F e, feEm A sesdm fest @ R
" T TS T @, fromht wifw | see ot
N A A e @ %, gwd e & 9o A
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Do you agree that liberalization of Foreign Direct Investment (FDI)

policy may be necessary but not sufficient for expanding FDI

; . : ; .
nflows into India 9 Give reasons in support of your answer-

(3) 4239
N A WeHd § o Ryl worw frRw (TwEler)
Hif < SRR T SRl §, e WRa H THersTs
TR B geN F foau Tata T ¥ 2 o 3w @ Uy
d e 3

Discuss the evolution of the quality of Indian exports and its

comparison with peers. List and review the areas that need

“intervention if Indian exports are to become more competitive

globally.
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"India should adopt a services-cum-manufacturing rather than
a services-versus-manufacturing dp_proéch, where the two-way

linkages between the sectors are strengthened." Discuss.
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(4) 4239
Discuss why has Indian manufacturing industries have had limited

impact on employment generation? How fair is it to target

stringent labor laws as the factor for low employment

generation ?
AT i 6 aRde fafmin @ & e G -
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List and discuss the factors that need to be understood for the

observed low food grain prié-e trends in India post 19'91.‘
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Explain the concept of " global production network" from an Indian
economy perspective. Is there any connection between India's

value-added share in the world exports and India's export
growth ?
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1. (a) Some firms prefer the IRR rule to t
Explain carefully four major drawb
solely on the IRR rule. Why is it stil

finance?

SECTION A

ac

he Npy Criterion,

ks of depending
1 Wldely used in

(8+2)

(b) Consider two mutually exclusive projects as under

| Project Co Cl1 C2 C3
A -100 60 60 0
B -100 140

(i) Calculate the NPV of each project using discount
rates 10% and 20%.

(i) Plot these on a graph. (3+2)

(37) == w NPV wmee it s@em [RR Fgw # v o<t 2 |
IRR &% w Fger smuRe =) wwer wREl =1 @ 3
faiwer =% 1 77 e ¥ ot v fege w0 3 @ IwE
S

(@) = A wERE e oRaemr w® AR wW e

. C2 [C3
Project Co Cl _
A -100 60 60 m_
B -100

4282A 3

(i) T 10% T 20% T IJTANT FA BT Wedeh qRAGT
& fow NPV &t vmr & |

(i) ww W 3= @ifhd w

2. (a) Derive an expression for modified duration. What is the
relationship between duration and price sensitivity?
(4+2)

! (b) Consider two 10 year bonds, one has a 10% coupon
i and price 98.72 and the other has a 8% coupon
and price of 85.89 and both have same face value

normalized to 100. Construct a zero-coupon bond and
find its price. (2+2).

(c) State the two-fund theorem and its implications.
What are the assumptions under which the theorem

holds? (3+2)

(H)#ﬁ%m%mmaawﬁwwumw
ﬁwaﬁamhama}ﬁamwg?
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S AT 10% T
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3. (a) Using CAPM, show how the ex

pected rate of retu
- . - rn
an individual asset relates to it -

s individual rigk. (5)

(b) Consider a portfolio of 250 shares of firm A worth $30/
share and 1500 shares of firm B worth $20/share. You

expect a return of 4% for stock A and a return of 9%
for stock B.

(i) What is the total value of the portfolio, what are

the portfolio weights and what is the expected
return? 4)

(i) Suppose firm A’s share price falls to $24 and
firm B’s share price goes up to $22. What is the
new value of the portfolio? What return did it
earn? After the price change, what are the new

portfolio weights? (6)

(57) CAPM = swdm =@ 5 feam fr 33 uw =fe®
wREuf A s w9 w wR wEhe R ¥
9T W@ T

(F) $30 ¥ Fmw www D wE A B 250 FAA @A $20 A
I HE H T B W 1500 IR W AR | AT K@
A S BT 4% R wRwe won wiw B @ g 9% B WO
F I TR T

4282A 5
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Ww%‘?wmwﬁwwmﬁuﬁw
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SECTION B

4. (a) Explain the concept of stack and roll? (4)

(b) On July 1, an investor holds 50,000 shares of a certain
stock. The market price is Rs. 30 per share. The investor
is interested in hedging against the movements in the
market over the next month and decides to use the
September NSE futures contract. The index is currently
4200 and one contract is for delivery of Rs. 200 times
the index. The beta of the stock is 1.3. What strategy
should the investor follow? (6)

(¢) An airline executive has argued: “There is no point in
our using oil futures. There is as much chance that the
price of oil in the future will be less than the future
price as there is that it will be greater than this price”.
Discuss the executive’s viewpoint with the help of a

numerical example, (5)

P.1.0.
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() Consider a 3-month futures contract on an index.
Suppose that the stocks underlying the index provide
a dividend of 1% per annum, that the current value
of the index is 1300 and the continuously
compounded risk-free interest rate is 5% Pper
annum. Find the futures price. 2)
(i) Explain how the futures price of a c::Jns.uI’ﬂPtic’_Il
commodity is related to the spot price. HoW 1S

. ; " t
this relation different from that of investmeén
asset? (2+2)

4282A

(b)

(c)

(31)

(9)

7

Consider a long forward contract to purchase a coupon-
bearing bond whosé current price is $900. Suppose that
the forward contract matures in 9 months and a coupon
payment of $40 is expected after 4 months. The 4-
month and the 9-month risk-free interest rates
(compounded continuously) are 3% and 4% per annum
respectively. Calculate the forward price assuming that

(3)

there are no arbitrage opportunities.

Explain the meaning of the terms dividend stocks and
stock splits. A company declares a 2 for 1 stock split.
Explain how the term changes for a call option with

strike price of Rs. 1307 (2+2)

() TIHE W 3-9EA 9y ¥R w R & | W=
A CHE D S wrE 1% W af ey 3 2
et gt =1 af A= 1300 W wER
Thafe SR dRa s w 5% 9y 9§ 2 | =9 e
dfaer &t F T W

g =X 5 A¥ v swl awg A v S
W SN ¥ dafua @ 1 R a8 9wy A aRaahy
¥ = ¥

(i1)

TF [T Hied die @lew & P v Sderi snmiRy
gfaer W R = St adq= e $900 ) wEr Ry

P.T.O.
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6.

8
1282A 4
SRS HidaT 9 AW 7 aRuer B ¥ o $40 B va —— (if) Explain why the arguments leading to put-call parity
FOEH 4 T & A IR ST ¥ 4 Tl for European options cannot be used to give a
a9 ‘Hé’F!T EUCLRGEL] ﬁ T (wwgfg IR . 30, similar result for American options. (3)
T 4% T 1AW T A afiew (arbitrage) srar s |
¥, R S W e a5 | (o) Bem @ wam R A e ¥ ) A R 100 T wer

10 & WER (strike) FE & WA TH Wi W q¢ fAwed

Fafy sy w@ew d i |
'ﬂ?ﬂm?ﬁﬁw(spht)ﬂﬂﬁaﬁm]m'_ (put option) TN HH: TIF 6 T T 9 T | T g FeAT

W | TE H | i R (split) & forg 2 Sy ey |

éiﬁsﬁwﬁﬁmowumke)aﬁw%mwm: NG i) 0 il

wiwer o BN |
fawer & fow safr oRafig B ®
N (5) () u= ey oReafd | -8 wiw dfe | e =
a at 1s the diff . : :
i St i ercr;ce between spreads and | T FE I AE IF T TR AN, 99 B I W
§7 Suppose that put option on a stock with Rf . E
strike price of Rs. 100 and Rs. 110 cost Rs. 6 and Rs. 9, | T U b  foe
respectively. How can one create a bull spread and | $3 ¥ | W R e W $440 WA T & qOm @R
what would be the payoff? (3+4) wRuga & fow AfREw ®a w® 7% W ad ¥
(®) () Consider a 1-year futures contract on an investment - :
asset that provides no income. It costs $3 per (arbitrage) @@ o = W T o daaw
unit to store the asset, with the payment being HE & AR TS
made at the end of the year. Assume the spot
Price is $440 per unit and the risk free rate is 7% | (i) = B =@ Qe e @ - IRE
Per annum for all maturities. Calculate the | (put & call parity) & 9% =t sRRFT fger & wm@Em
E:Oretlc.al’ futures price. Explain the arbltraﬁc R I B Pw sw@m 1S e s AT ® |
OPportunities when the price is not equal tO the |
theoretical price. (3+2)

|
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SECTION C

7. (a) Dividend policy does not matter because there s a
transfer of value from the old to the new shareholders,
Discuss, highlighting the assumptions that underlie such
an assertion. (5) |

(b) Show with the help of an example that when 2 firm |
repurchases stock instead of paying dividends reduces |
the number of shares outstanding but produces an

offsetting increase in subsequent earnings and dividends 8

per share. (5)

(c) Suppose drug retailer CVS has an equity beta of 0.80
and a debt-equity ratio of 0.10. Estimate its asset beta
assuming its debt beta is zero. Suppose CVS were to
increase its leverage so that its debt-equity ratio is 0.50.
Assuming its debt beta were still zero, what would you
expect its equity beta to be after the increase in

leverage? (5)

(7)ot A Frvadeg 8 ¥ R ok @ T PR 3 T
BB | AGAA W e SRIC S A and wIH
H T Y

(3) v Semwewr ot wemer ¥ R Ry o va B T
%ﬁmﬁWWWﬁwwgﬁ
mﬁa@ﬁﬁﬁmﬁrmﬁwmwﬁwmal
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(/) @ f& wden weaR CVS 0.80 &t U& A Sl aor
010 F FU-3fFE  FINT @A T | TED FO feT_ Hy
T A g s@ant aRaafe der 1 o w1 W R CVS
T I (leverage) T we =t o R & @t =0T
At S 0.50 B 1 WA B g@ewT Fw der andt T T
o, S Ie A I F aw R IR A ¥ s
AUl

(a) Modigliani-Miller’s propositions warns us that higher
leverage increases both expected equity returns and risk.
Explain. (7)

(b) (i) As long as investors can borrow and lend on their
Own account on the same terms as the firm, they
can undo the-effects of any change on the firm’s

capital structure. Explain with the help of an
example, (6)

(ii) What happens if Corporations

can borrow more
cheaply than individualg?

(2)
() At 3% o 2w o i
j: = ”“'”'Wﬁﬁwﬁmé,ﬁsﬁm
|
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1. (a) Let the probability that a child will look after its parents
when they are aged, be p =1, and let the threshold
probability that a father-mother pair finds acceptable
for receiving support from at least one child in their old
age be 0.95. Calculate the number of offspring that this

couple will choose to have. Also, explain the factors

: 3,4
that influence ‘p’. (3.4
(b) In a society with gender bias where females are

i i iviti ine
expected to take care of child rearing activities, exam

5 -
the case for reduction in fertility when female wag

. 8)
go up as opposed to 2a rise in male wages. (

m-ﬂmﬂﬁ@aﬁwm’mﬁ

=l I ;
o) 0 r <o, o P g ¥

e & @ = 1, AW

4433 3

3 T v T A e T B Ry - A A
F @ed 8, 0.95 Bl AWl @ @ @) T @R ot b
§ Ul IR AIEdl BRI W B, S HReDI d FRAT
TR S S |

(ar/)‘ dfieh qalus & w9 wET A WET AfRensil @l Wil 9ree
Tl St e w W I 8, W A9 A gy @
fy ¥ wRen ¥ gEN = WS F onT HwR

(a) In the Harris-Todaro model, suppose the initial level of
Iurban employment is E; = 2 million, the total urban
labor force is L;; = 3 million, the urban wage is fixed by
law at W, = 6, and the rural wage is W, = 3. If the

probability of finding a formal sector job is defined as
Ey/Ly,

(i) Will a person who is currently in the rural sector

find it optimal to migrate to the urban sector?
Explain.

(ii) If urban employment and the urban and rural
wages remain fixed, solve for the level of the
urban labor force which will result in the post

migration Harris-Todaro equilibrium,

P.T.O.
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4 5
111 Startmg with the
Initia] sityat; : .
People must migrat on, how many ryry (iii) TR Rafy ¥ TE H, W A) F W ¥ wr Age
of jobs to ach 5rate to the urban sector iy search e F B forg e I A AR 9 e
§ 10 achieve the €quilibri
u L , . .
part (ii)? mas O(zt:med in ¥ e} & ¥ WEERT FET ARY?
5,2.5,1)
(b) Briefly explain th - (@) o ¥ TEr- TEd v & eRe-CTg Avse i wwa qu
migrat ¢ Harris-Todaro model of rural-urbap = ¥ & AyaRs a7 ¥ w9 JEmwe # WA |/ D
io _
0, and argue that despite acceleration i the T O T D A B T A ARG &F Fga 2
rate of absorption of labour in the forma] Ry WA, G "

informa] sector as a fraction of the total labour force

increases. 3. In the rural informal credit market, will the moneylender’s
® preferred contract involve credit rationing? Analyse the

reasons and discuss. (15)

(37) %ﬁa-ﬁeﬂw‘mﬁ,mﬁ%mﬁmmmw
?EU=2m,@mmmﬁﬂ%LU=3m,mga T SR e AR X, T e @ e gy ¥ =
TG Wy = 6 0 a0 7 o E 2 ok wi wod 2 T N7 FR w R R e
Wy =313l v shtoaiie & =it At dont 9 s

z E,/L,, & | 4. (a) In the presence of widespread under-nutrition in the
rural labour market, the effect of changes in the

(i) = E =T S T8 ¥ T A 3 3 = wER ! distribution of landholdings may be judged desirable not
only for their own sake but also for the economy.

87 ¥ TAET AT SUGE G qHS Discuss. )

(ii) R EQ IR 3k w=Q Rk Irlor wogd R R, (b) Briefly explain how a policy of lending by the formal

: sector to large informal lenders can have a mixed effect
BIELY A W e IRomEwT :
kbl for small borrowers with no access to formal credit.

yaeE & 9e 2Ra-ARR Ao enm ©

P.1T.0.
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(a)uﬁmmwﬂwm_wﬁm%ﬁ o
PR A B T RN D o1 R 7 b g

Nk "%ﬁ"”ﬁmwﬁrméz
T4t

Ha X T B ShraRe & w R iR Suers
ﬁw%ﬁﬁﬁ%%m@%mﬁw,m

AR o T Ug A P, vw MR v @ ww
21

(a) Sharecropping emerges as a way to share not just the

output of productive activity but the risk associated with |

it as well. Elaborate. (8)

(b) Explain how the way debt contracts are specified in |

rural informal credit markets can lead to a rise in land |

inequalities in poor societies. (M |

(31) w{aﬁmnﬁﬁfﬁwwﬁqﬁaﬁ@*wﬁw-

@Wﬁﬁwmﬁ%w#ﬂ%%mﬁwm
21 R ¥ "I

; q’fﬁl’l
() w e f wE 3 F g A S

: il
ot ¥ Pt ¥, et w0 wR ¥ o s ¥ I
W 2

4433 7

6.

Explain the concept of sustainable development, and how it
is estimated. Are the movements in GDP, HDI and

sustainable development related? Discuss through empirical

(15)

evidence.

Tad frem & SFTURIT A TR AR IR ATAT I D FAd!
F R WY T S, TS 3R aaw faewre @t wifafay
¥ Haw 27 AT @O D AR & 99t )

“Collectively, however, our actions took the world’s
economy to the brink of disaster, and they could do so
again unless we recognise what went wrong and take the
steps needed to correct it”, In light of the above statement,
discuss the reasons for the global financial crisis of 2007

and what can be done to avoid such a crisis in future?
(15)

“HiRE ¥ X TR wE ¥ R w sntaaen =t IS &H TR
wmﬁm,aﬁtaﬁmﬁﬂ%wm%wwﬁ;mwﬁaﬁ
m@fﬁ:mwgwaﬂtﬁgﬂﬁ%ﬁm HETEEF HIH ISW|”
SR =R B www A, 2007 & e BAfg g 2 wrOY w0

T R o R R wwe ¥ = B Ry R o gy
¥7

RT.0;
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8. Trade policy is politically contentious because it has
important domestic distributional consequences. Discuss thel
effects of globalization on poor in the developing economie;

in the light of conflicting viewpoints of economists.

ﬁmwwﬁwm%mw@%ﬁarﬁag&aﬁw%mﬁﬁﬁmﬂa
mﬁﬁmwaﬁw%mwﬁﬁl
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(a) What are the changes in the banking system deposits,
currency holdings and the total stock of money if RB]

1.
makes an open market purchase of 30 crore Rupees?
Given that —
(i) Required reserve ratio = 20%
(ii) Desired Excess Reserve Ratio = 5%

(iii) Desired currency to deposit ratio = 259% 9)

(b) Describe two ways in which financial intermediaries

help lower transaction costs in the economy. (6)

() 36T et S, e AfesT wo qm D e wwhen F aRe
B 3R R Fo g 30 FAT T A @A oW wq
T ?

fear gy -

(i) s sftfers s = 20%
(ﬁ)a@ﬁﬂﬁﬁﬁmaﬁmﬁzs%
(iﬁ)af%ﬁﬂmwaﬂqngs%

(W) 2 TR vy o o el o sfaren 6t A
AT F FH OwE N HeT I D

4499 3

2. (a) By choosing an intermediate target the central bank
confronts a choice of achieving either a monetary
target or an interest rate target. Which is better? Explain.

(8)

(b) There are two Bonds, Bond A and Bond B, wherein,
Bond A has zero probability of bankruptcy, face value
of 1000 Rupees with a maturity of one year and coupon

l/ rate of 5%.

Bond B has 10% probability of bankruptcy, face value
of 1000 Rupees with a maturity of one year, and coupon

rate of 5%.

(i) Calculate the price and yield to maturity of Bond
A and Bond B.

(i) Why do they differ in price and yield to maturity.
Explain diagrammatically. (7)

(%) Femadl wed Y gAEK deid A A1 A T Afh qed A
=S R D e F W FEA D e AW YT B

HT q1 I B 7 AR W |

(@) T5i @ | &, 9= - A 9 a=- B, e, dts- A 1 Rarferea
# I wWE 8, TR o R aRaeear sErr SR 5%
HOT W F WY 1000 TT H e T T |

P.T.0.
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W—Bﬁﬁmﬁmﬂﬁm%ﬁﬁmﬁ,wﬁaﬁqﬁq—ﬁm
aaﬁaﬂws%a&ag\wm%wmooma&a@mw
2 )

(i)a‘m—Aaﬁ%—Baﬂﬁwwvﬁqﬁmmaﬁ
AT H |

(ﬁ)%mwwﬁmm#ﬁﬁw%?ﬁaa&
TEE ¥ ORI WY |

3. (a) What are the main approaches to money stock
determination? Discuss the money multiplier approach

where money is defined as broad money. (8)

(b) Would moral hazard and adverse selection still arise in
financial markets if information is not asymmetric?
Explain. (7

(F) T = Frofier & Fe gfeator = & 7 a1 qoieh gfeaT
W W W W A A e A D w9 A gReie R
pe

(@) = Afrw WM ok v o Rt @t F 0
T W ¥ 1 AR quen s w6 2 7 e W

4499 5

4,

(a) “The beauty of the preferred habitat hypothesis lies not
only in its intuitive appeal in combining the best aspects
of the other two hypotheses but also in its power in
explaining the shapes of the yield curve.” Elucidate.

(10)
(b) Explain the advantages and disadvantages of India
adopting Basel III. (5)

(=) “wﬁaﬁamtrﬁmma?rg%m#%mmawﬁaﬁ;mﬁ
& AW TG B wAe ¥ 2, 9w 399 a% D R
Tl TR FA d FT AT A R e W

(@) 9T & qGA-1M H JEH D FES IR THAA =R
ol

(a) Discuss the conditions that led to the current banking

crisis (2008 onwards) in India. (8)

(b) Discuss the factors causing financial crisis in the

financial markets. @)

(%) S fuftdl w ==t X e #ro wwa ¥ =g ST gwe
(2008 ¥ 3MW) 3w |

(@) fadg el ¥ facig @@ I T 9 wRA W
&

P. T
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| 4499 7
6. (a) Assuming other things remaining congty

impact of each of the following on the

nt, d .
clermine the (@) v dgw o s Rod &t e 2 1 mihe w R,

. Mone ;
India : Y Supply ip Ao A g W T OFNEE B FNE H W R AR
(i) RBI lowers the required reservye ratio (i) 71 o ?
0T . _ -
(i) Interest rate paid on deposits rises (ii) ¥ I 2

(iif) Probability of Bank failure rises
7. (a) Discuss the implementation lags and effectiveness lags

(iv) An earthquake in Bhuj ® T . )
(b) Suppose investors prefer one year bonds to three year
bonds and will purchase a three year bond only if they
expect to receive an additional 2 percent over the return
from holding one year bonds. Currently one year bonds
yield 3 percent, but investors expect this yield to rise to

4 percent next year and to 6 percent year after.

(b) The Central Bank of India increases required reserves
Graphically, illustrate the impact of this action on the
money supply if:

(i) Money supply is exogenous
(i) Money supply is endogenous (7)

(i) Which of the three models of term structure is

(F) o9 o 370 99 @9 §, RS A FaT qfd X FEfaRad # relevant in this case and why?
® = | (i) Is the yield curve upward sloping, flat or
downward sloping?

(i) Wﬁaﬁmmﬁmaﬁaﬂﬁ?'
(iii) What is the yield on the three year bond?

(ii) 5P TR W = ® w1 SR 9GO ¢ | (7)

(%) WA Ay ¥ Flam s qar wEde e 5T
Eadl
(iv) 991 % 9&7 |
P.T.O.

3
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(@) WW%W@H&%E‘T@E&@?H&%W@
Fo X qHe & B aﬁ?‘cﬁ?aﬁ?%aﬁ’%ﬁaﬁaaﬁaﬁ%m

;;q vh @A WA T D TR 2 T e

@ A B A IS B | AT TF A W 3 iy
Sifste et 2wt et =t 99 e i a guw gy
A 4 WAEE 9 3R I IS A 6 AT TF a4 |

(i) o &= il I e A ¥ F W T T N wwhie

i R

(ii) =1 39S 9 FW A WhH, W AT N A W T
e 8 7

(iil) 9 af & d= W T I97 2 7

8.  Write short notes on any two :
(a) Open market operations

(b) Asset Securitization

(c) Banks Strategies for countering asymmetric information

(7.5+7.5)
st 8 W e o o

(%) TR w9 whEw |
(@) e R
(1) A T H AT T F e ST ) o |

(2800)
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